71. 82m Rw | Fall [RCuww| Conew [ 20 25 30 35 40 45 50 55 60 65 70
5 !a’.’.  Sm , 5m . 5m ., Sn . 5m , 5m_, S5m_, 5n W [21.4[12.0[ 120 [ 100 | 80 | 65 | 5.5 [ 475|415 ]| 355|315 ] 275|245
A . °© | - _ | 0 o110 ]l0]|06]|0| 0| o T a9 60| 60 | 60 | 60 | 60 | 60 | 55 | 49 | 43 | 39 | 35 | 52
BT YAYAVAVAVAVA' /TAVA 'AVAV A 'AVAVA' AVAVAVAVAVAVAVA'TA' A A 'AVIAY'AVAVAY Vs 'AVA!"AVAVVAVAVAVAVAV/AVAVAVA' AV AVAVA) 'AVAY
65m W [22.8[12.0] 12.0 | 10.8 | 8.7 7.2 6.2 | 515 | 455 | 3.95 | 3.45 | 3.1
Ld [44.7]6.0] 6.0 6.0 6.0 6.0 6.0 5.9 5.3 4.7 4.2 | 3.85
-F 22.8112.0( 12.0 | 10.8 8.7 7.2 6.2 5.15 | 4.55 | 3.95 | 3.45
S or 5 Om T a0 7[60] 60 | 60 | 60 | 60 | 60 | 59 | 53 | 27 | 22
AVAYAVAVAVAV/A' & 'TAVAVAAVAVAVAYA AVAVAYAVAVAVAVA'AVAVAAVTAVA) AV AVAVAVA!/AVIA AV /AVAY/AVAVAVAY AVAVAVAY a1} m mms F NN m AN O AN O AO m w ! L N 0 N > am Av % w Om
& L [44.7]6.0] 6.0 6.0 6.0 6.0 6.0 5.9 5.3 4.7
O ) S ® ® ©® 0o © 2 W [233]120[ 120 [ 111 89 [ 74 | 62 [ 535 | a6
AVAVAVAVAVA''A" 3 'TAVA'AVAAVAVAA\/AVAVAYAVAVAVAVA'/AVAVAVAY /A' 'AYAVVAV/AVAVA' A T4 "AVA! 'AVAVAVAVA) GBI 50m L 2571 6.0 5.0 50 5.0 5.0 5.0 50 5.4
45m | W [23.8[12.0] 12.0 [ 11.3 | 8.9 7.4 6.2 | 5.35
AVAVAVAVAYAVA' 4 '7AVA'AVAAAVAAV/AYAVAVAVAVAVAVAI/AVAVA' A A AV AVAVAVAVAV/A) T4 AVA' A SEIOU] 40m .F 24.7112.0( 12.0 | 11.8 9.5 7.9 6.7
35m | W [24.8[12.0] 1220 | 11.9 | 9.6 | 7.95
AVAVAVAVAYAVA' &'7AVA'AVAVAAVAAVAVAVAVAVAVAVAVAV/AAVA!AVA'A) AVAVAVAVA A L son | W |24.9[12.0] 12.0 | 11.9 9.6

o e |

47A)A)AVAVAAVAVAVAYAVAYAVAVAVAVAVATAAVA

AVAVAVAVAVA)A'

LJ SRE AL
AVAVAVAVAVAY'A' "AVAVAV/AVAVAVAVAVAVAVA! \KU1] &R m/min t m/min t m kW
@7t Hoisting | 12t | 55LVF30 090 3.0 0-45 6.0 630 55
0-45 6.0 0-22.5 12.0
AE0& Trolleying BP6555X 0-65 m/min 5.5
B3 Slewing 2RVF5.5 0-0.6  rpm 7.5X2
iR Pover 380V (£10%) /50Hz | 55LVF30: 75. 5kW

= = I PHZ4200 PHZ700 PCB
s 70m 20. 68m 24860kG 5 4 1
s 65m 20. 68m 24160kG 5 2 1
200 [ s ° 60m 20. 68m 22060kG 5 / 1
] i s 55m 18. 18m 24860KG 5 4 1
LOBE2 P T ” 50m 18. 18m 22760kG 5 1 1
e = e 45m 18.18m 19260kG 4 2 1
an’ 115 WH . 40m 18.18m 17160kG 3 4 1
pan 1= 35m 18.18m 14360kG 3 1 1
2 | L Lk + 30m 12.18m 20660k G 4 5 1

@ T{ERAEXRA in service Reaction MIETIERAZ RS Out of service Reaction MEES: Number of tie collors=(H-A-C)/B+1

O FAHHRRETRHMUMERR Total weisht of free standing crane (exclude Counter weight & ballast)




